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111 | K| -e 3.7 0.0
2 | & | o 2.6 | -2.1
3 | £ | = 2.6 | -2.8
4 | B | <HY | 42 -1.7
5 | B | e 9.1 1.1
6 | & | <ty | 10.0| 0.1
7 | k| -e 3.3 -0.3
8 | A | o 56 | 0.3
9 | & | -o 6.6 | 0.7
10 £| = 47| 0.3
11| B 8- 6.5 0.0
12 | A So- 53| -0.8
13 | &« [ <sy | 9.3 23
14 | Kk | - 9.1 | -0.3
15 K [ <sy | 47 0.5
16 | & | - 7.7 1.1
17 | £ | <HYy | 5.1 1.2
18 | H B 4.8 | -3.2
19 | A g 4.2 | -3.4
20 | x| E 4.3 0.7
21 | K [ <Y | 40| -41
2 | K| 29| 0.9
2 | & | M 8.2 1
24 | £ | - 7.4 1.5
25 | H 8- 8.8 | -0.1
26 | B | <&y | 71| 238
27 | x| <HY | 110 41
28 | K | e 3.6 0.5
29 | K| e 6.1 | -3.6
| & | = 0.2 | -1.5
31 | £ | - 55| -3.6
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46.9 38.5
43.8 38.9
47.0 46.9
41.3 39.5
43. 1 37.1
371.5 34.5
39.3 35.7
45.8 40. 3
3.1 29.8
45.0 41.8
39.2 33.8
40. 1 33.7
35.4 32.2
33.6 29.9
43. 4 41.1
40. 2 33.4
45.3 42.9
39.7 38.0
43.3 39.0
42.7 39.1
43.8 39.7
45.7 44.1
45.7 41.2
38.8 35.4
34.3 30.4
38. 1 34.7
33.8 30.7
40. 4 35.4
38.5 33.6
91.7 51.3
94. 1 46.8

1295.2 | 1169.4

HESE
1) - (m) (2) x48
-32.9 269
-31.2 82
-46.9 0
-39.5 0
-21.2 475
-33.2 62
-29.0 322
-32.2 389
-18.5 542
-34.5 350
-22.6 538
-25. 1 413
-18.0 682
-16.6 638
-40. 6 24
-22. 1 942
-38.17 202
-36.3 82
-38.2 38
-25.4 658
-30.3 451
-44. 1 0
-34.2 336
-18.7 802
-21.4 432
-34.4 14
-24.3 307
-22.6 614
-18.8 110
-51.3 0
-39. 1 370
B#ERE 08 9,974




